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              Evaluate  

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     Solution :-      Let  xeu    dxedu x     
xe

du
dx   

               

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
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  Evaluate  

 
 dx

x

x
I

2
)ln(

 

     Solution :-      Let  )ln(xu    
dx

x
du

1


    xdudx   

             

   
  c

xu
Iduuxdx

x

u
I
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    Evaluate   ∫ √𝟐𝟕𝒆𝟗𝒙 + 𝒆𝟏𝟐𝒙𝟑
  dx

 ∫(  𝟐𝟕𝒆𝟗𝒙 + 𝒆𝟏𝟐𝒙)
𝟏

𝟑dx = ∫(  𝟐𝟕𝒆𝟗𝒙 + 𝒆𝟑𝒙+𝟗𝒙)
𝟏

𝟑dx 

 =  ∫(  𝟐𝟕𝒆𝟗𝒙 + 𝒆𝟑𝒙 𝒆𝟗𝒙)
𝟏

𝟑    dx 
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                                      = ∫((𝒆𝟗𝒙) ( 𝟐𝟕 + 𝒆𝟑𝒙 ))
𝟏

𝟑  𝒅𝒙 

                                    = ∫(𝒆𝟗𝒙)
𝟏

𝟑 (  𝟐𝟕 + 𝒆𝟑𝒙 )
𝟏

𝟑   𝒅𝒙 

 

                                =  ∫ 𝒆𝟑𝒙 (  𝟐𝟕 + 𝒆𝟑𝒙 )
𝟏
𝟑 𝒅𝒙 

 

𝒖 =  𝟐𝟕 + 𝒆𝟑𝒙           ,   𝒅𝒖 = 𝟑𝒆𝟑𝒙𝒅𝒙         ,     𝒅𝒙 =  
𝒅𝒖

𝟑𝒆𝟑𝒙
  

                               ∫ 𝒆𝟑𝒙 (  𝟐𝟕 + 𝒆𝟑𝒙 )
𝟏
𝟑 𝒅𝒙    = 𝒆𝟑𝒙  𝒖

𝟏
𝟑  

   .
𝒅𝒖

𝟑𝒆𝟑𝒙
   

 

=
𝟏

𝟑
  ∫  𝒖

𝟏
𝟑  

  𝒅𝒖 

=  
𝟏

𝟑
  

𝒖
𝟒
𝟑

𝟒
𝟑⁄

    +   𝑪 

=  
𝟏

𝟑
 .

𝟑

𝟒
    𝟐𝟕 + 𝒆𝟑𝒙 )

𝟒
𝟑  
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    Evaluate  ∫   𝒙 𝒆( 
𝒙𝟐

𝟑
)√𝟑

𝟎
 

𝒖 =  
𝒙𝟐

𝟑
        ,   

𝒅𝒖

𝒅𝒙
 =  

𝟏

𝟑
  .   𝟐𝒙 

𝒅𝒖 =  
𝟐

𝟑
 𝒙 𝒅𝒙      ,       𝒅𝒙 =  

𝟑

𝟐
 𝒙 𝒅𝒖 

 

∫   𝒙 𝒆𝒖    .  
𝟑

𝟐
 𝒙 𝒅𝒖  =  

𝟑

𝟐
  ∫ 𝒆𝒖 𝒅𝒖

√𝟑

𝟎

   

√𝟑

𝟎

 

=  
𝟑

𝟐
  [𝒆𝒖]𝟎

√𝟑       =  
𝟑

𝟐
  [𝒆

𝒙𝟐

𝟑 ]
𝟎

√𝟑

   

 = 
𝟑

𝟐
  [𝒆

(√𝟑)𝟐

𝟑
     −        𝒆

𝟎𝟐

𝟑
]    =    

𝟑

𝟐
  [𝒆𝟏     −        𝒆𝟎

] 

=   
𝟑

𝟐
  [𝒆     −       𝟏]  =  ≈   𝟐. 𝟓𝟕𝟕 … 

 


